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QUESTION 1

Which protocol type(s) can be secured with SSL in Juniper\\'s DX Forwarder? 

A. SMTP, POP, and FTP only 

B. any UDP protocol using one port 

C. any TCP protocol using one port 

D. SMTP, POP, and HTTP only 

Correct Answer: C 

 

QUESTION 2

An enterprise has two SMTP servers, one primary and one backup. They would like for all traffic to go to the primary
server first. If the primary server fails, then traffic should go to the backup server. Once the primary server returns to
normal operation, they would like traffic to return to the primary server. Which load balancing algorithm would meet this
requirement? 

A. Backup Chaining Revert enabled 

B. Maximum Connections Revert enabled 

C. Backup Chaining with Sticky enabled 

D. Maximum Connections with Sticky enabled 

Correct Answer: A 

 

QUESTION 3

Which CLI command displays FECN and BECN information on a Frame Relay interface configured on serial interface
4/0:3/1? 

A. show frame relay pvc 

B. show frame relay summary 

C. show frame relay subinterface 

D. show frame relay interface serial 4/0:3/1 

Correct Answer: A 

 

QUESTION 4

What does the command sync group do? 
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A. It copies a DX appliance\\'s configuration to a TFTP server and instructs the TFTP server to copy the configuration to
another DX appliance. 

B. It synchronizes a DX appliance\\'s configuration to it\\'s previous configuration. 

C. It fetches a saved configuration from a TFTP server and reinstalls it onto the current DX appliance. 

D. It copies a DX appliance\\'s configuration to one or more other DX appliances. 

Correct Answer: D 

 

QUESTION 5

What are three Juniper DX Cluster benefits? (Choose three.) 

A. authorization 

B. protocol validation 

C. compression 

D. performance 

E. UDP load balancing 

Correct Answer: BCD 

 

QUESTION 6

What is the maximum number of Juniper DX appliances that can be combined in a single ActiveN configuration? 

A. 64 

B. 1 

C. 32 

D. 2 

Correct Answer: A 

 

QUESTION 7

An enterprise has three servers behind a Juniper DX SLB, labeled Server A, Server Band Server C. They have chosen
to use the Weighted Round Robin algorithm. Server A has been assigned a weight of 10,Server B a weight of 10, and
Server C a weight of 0. 

What percent of traffic will go to Server C? 

A. 0% 
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B. 10% 

C. 100% 

D. 33% 

Correct Answer: A 

 

 

QUESTION 8

In the WebUI, which method will determine if a Cluster target host is available? 

A. Click Statistics > Cluster Groups 

B. Click Dashboard > Cluster group name 

C. Click Services > Cluster Groups 

D. Click Log > Audit 

Correct Answer: B 

 

QUESTION 9

Which three transport methods are used to transfer a TCP dump? (Choose three.) 

A. SMTP 

B. SCP 

C. TFTP 

D. HTTP 

E. FTP 

Correct Answer: ABC 

 

QUESTION 10

What are three characteristics of RIPv2? 

A. supports VLSM 

B. SUPPORTS KERBEROS AUTHENTICATION 

C. IS BACKWARD COMPATIBLE WITH RIPv1 

D. Multicasts messages to RIP neighbors E. Uses Hello Protocol for neighbor discovery 
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Correct Answer: ACD 

 

QUESTION 11

An enterprise has multiple servers hosting the same application. The Juniper DX VIP is listening on IP address
64.10.10.1, port 80. Which three target server labels are correct? (Choose three.) 

A. 64.10.10.1:80 

B. 64.10.10.51:80 

C. 64.10.10.60 

D. 10.10.1.50:80 

E. 64.10.10.52:81 

Correct Answer: BDE 

 

QUESTION 12

Which system elements are exported when using the system snapshot feature? 

A. tsdump, tcp dump, current debug and memory states 

B. current memory states 

C. system process data, system logs, system debug statistics and system passkeys 

D. system software, users, configuration, licenses, app rules, SSL certificates and keys 

Correct Answer: D 

 

QUESTION 13

In the WebUI, which method will determine if a Cluster target host is available? 

A. Click Statistics > Cluster Groups 

B. Click Dashboard > Cluster group name 

C. Click Services > Cluster Groups 

D. Click Log > Audit 

Correct Answer: B 

 

QUESTION 14
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You would like to configure a channelized OC3 interface with the following properties: 

Slot 4 Port 0 Path Channel 3 Virtual Tributary Group 4 Virtual Tributary 1 times lots 112 

Which set of configuration commands accomplishes this goal? 

A. controller sonnet 4/0path 1 oc1 3path 1 ds1 1/4/1 vt15path 1 ds1 1/4/1/channel 1group 1 timeslot 112 

B. controller sonnet 4/0path 3 oc1 1path 3 ds1 1/4/1 vt15path 3 ds1 1/4/1/channel 1group 1 timeslot 112 

C. controller sonnet 4/0path 1 oc1 3path 1 ds1 1/4/1 vt15path 1 ds1 1/4/1/channel 1group 1 timeslot 112 

D. controller sonnet 4/0path 3 oc1 1path 3 ds1 1/4/1 vt15path 3 ds1 1/4/1/channel 1group 1 timeslot 112 

Correct Answer: A 

 

 

QUESTION 15

Which two authentication protocols can be configured for RIP on an ERX Edge Router? 

A. PAP 

B. MD5 

C. CHAP 

D. Clear text 

Correct Answer: BD 
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